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(iv) ~ if fcmR ~ crrffi trr ~ ~. ?
(v) ~ if tiR ~ ~ ~ ~ 1111 ~ I

1

lx6=6

1

1

1

1

1

1. (i) mm- ~ ~ ~ ~ ~ ~-m ~ ?
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(Hindi Version)
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(iii) ~13TI ctt ~ m 0HN)if1C'1I~ c¬ RR-Bt~ ?
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11. m (1947 f:t ~) of; ~ if 'lft :
(i) ~

(ii) Q61"1q;)e:

(iii) ~

(iv) Rl~~icH('11

(v) ~~

5
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(vi) ~ ~ ~ etA m m ?

(ii) '3fN ~ ~ ~ ~ ? 1

(iii) ~ ~ ~ \1fi ~ ~ ~ ~ ? 1

(iv) $ft-J:Jey f:t Cf<1T 'llfCf ~ ? 1

(v) ~ ~m tR ~ ~ q)Gf ~ ?

(Cfi) 1524~. if (W) 1514~. if

1

-Wfi = 25'WT-lJ (~) r
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8. (i) m c8 l~ ftr"~' fcfiB CfiRif if cnm \iffiiT ey ?
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(English Version)

Note: (0 Youmust write the subject-code / paper-code 06/e in the box provided on the title
page of your answer-book.

(ii) Make sure that the answer-book contains 26 pages (including title page) and are.
properly serialed as soon as you receive it.

(iii) Question/s attempted after leaving blank pagels in the answer-book would not be
evaluated.

lx5=5
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5

3

3

3

3

3

3x3=9

(iv) r:fq~lfficfi fB@;ffl 9?T qoR ~ I

(v) ~ 'wiftChl cfi ~ ~ I

1

1

lx6=6

1

1

1

1

12. (i) mCflfft. <fiR ~ ~ ?

(ii) ~~ cfi ~ 9?T ~ ~ -&!ill ~ ?

(iii) 'liffil <tt ~ ~ <FIT ~ ?

(iv) f.mffflT ~ ~ ~ ?

ftCffi ~ I~ i44l~lI >fH

(v) ~ cfi ~ ~ c¬ rr ~ ~ ?

(vi) ~ ~ 9?T \1Fll c¬ rr~'*I
(4J) 24 i311ffif (@) 24 ~

13. P19R*lfulCl ~ >f~;ffif -« ~ ijA cfi i3m ~ :

(i) ~14ld<?l cfi 1WT it \31R CJRift GfTtlT.:3TI 9?T qoR ~ I

(ii) ~ qm >f~ cfi ~m 1:R qqf ~ I

(iii) ~ ~~ if ~ 0TR ~ ~-~ ~ Cf){ B4lCIT ~ ?

i3:fcf; = 20

( 8 )

~-q (~~~)
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Which elements affect the climate of India ? -

or

3. How does natural vegetation act as a boon for industries?

2. Answer any three questions out of five.

(i) - Why is India known as country of villages?

(ii) Inspite of being close to the Arabian Sea, why does Rajasthan remain dry?

(iii) Why Solar energy is said to be future energy source?

(iv) How many gauges of rail tracks are there in India?

(v) Name the famous Gold mines in India.

(d) Computer(c) Doordarshan

(v) Hirakud dam is .. meterlong and meter high.

(vi) means of communication is called communication medium of 21st century.

(a) Radio (b) Telephone

1. (i) Which is the highest peak of the world? 1

(ii) What is density of population of Punjab? 1

(iii) Define soil. 1
(iv) Name two non-ferrous Minerals. 1

Fill in the blank/multiple choice questions.

Marks = 25Part-A (Geography)

Note: Answer the following questions in one word or one line:

(iv) All questions are compulsory.

(v) Draw diagrams and maps, wherenecessary.

(vi) Useof stencil is allowedfor drawing maps.

(vii) Blind students will clearly write about situation of the centre, place or name of the
objects asked instead offilling the maps in Geography and History.

(viii) The answer of each question of 1-1 mark should be in one line or one word, of
3-3 marks in about 30-50 words and of5-5 marks shall be in about 100-120 words.

(ix) Attach maps of India and Punjab with your answer-book.

(9)
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or
What do you mean by savings? Define average propensity to save and Marginal propensity to
save. 5

Ix5=5

(ii) Describe any three problems of small scale and cottage Industries in India. 3

(iii) Define investment. What are the elements of determining the investment? 3

(iv) What is the meaning of economic planning? 3

(v) Explain the contribution of government in the development ofIndian Agriculture. 3

3x3=9
7.· Write a short note on change in volume and direction ofIndia's foreign trade after Independence.

5

3

6. Answer any three questions out of five.

(i) Explain the importance of India's foreign trade.

(vi) Goods that a country gets from other countries are called

1

1

lx6=6
, .

(c) Foreign Trade(b) Imports(a) Exports

1

1

1

1s. (i) What is seasonal unemployment?

(ii) Mention one basic Industry of India.

(iii) What are any two failures of planning?

(iv) What is meant by green revolution?

Fill in the blank/multiple choice questions.

(v) R.B.I. was established in ..............

Note: Answer thefollowing questions in one word or one line:

1
1

1

1
1

lx5=5
Marks = 20Part-B (Economics)

4. Show on the map ofIndia :

(i) Hirakud dam

(ii) Indira canal

(iii) Black soil area

(iv) A state with high literacy rate

(v) Chennai

( 10)
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Part-C (ffistory) 

Note : Answer the following questions in one word or one line : 

8. (i) In which period Punjab was called 'Sapta Sindhu' ?

(ii) Who wrote the Jaap sahib?

(iii) What type of sacred thread did Guru Nanak Dev ji want? ·

(iv) What is the meaning of the Manji system ?

(v) When was Babur's first attack on Punjab?

(a) in 1524A.D. (b) in 1514A.D.

(c) in 1519 A.O.

(vi) Which was the first Misl ?

9. Answer any three questions out of five:

(d) in 1518 A.O.

(i) Write a note on the battle of Chamkaur Sahib.

(ii) After the treaty ofBhairowal how did the British treat queen Jindan?

(iii) Write a note on the martyrdom of Guru Arjan Dev ji.

(iv) Which activities of Sri Sat gum Ram Singh ji frightened the Britishers ? . ·.

(v) How did Guru Gobind Singh ji spend his childhood in Patna?

10. Describe Jaito Morcha.

or 

Describe the Plains of Punjab. 

11. Fill in the map of Punjab (before 1947 A.O.):

(i) Batala

(ii) Pathankot

(iii) Multan

(iv) Chillianwala

(v) Anandpur Sahib

06/C-X 

Marks= 25 

1 

1 

1 

1 

1 

1 

lx6=6 
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1 

1 
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Part-D (Civics) 

Note : Answer the following questions in one word or one line : 

12. (i) Who is a Public Prosecutor ?

(ii) How the members ofRajya Sabha are elected?

(iii) What is the Atomic policy of India ?

(iv) What is illiteracy ?

Fill in the blank/ multiple choice questions.

(v) The upper house of Parliament is called ............. . 

(vi) United Nations was established on ............. . 

(a) 24August (b) 24 October

13. Answer any three questions out of five.

( c) 24 December

Marks= 20 

1 

l 

1 

1 

1 

I 

lx6=6 

(i) Explain hurdles in the way of democracy. 3 

(ii) Discuss the relationships of President and Prime Minister. 3 

(iii) When and how many Anglo-Indian's can be nowinated by the President in the Lok Sabha ?

(iv) Explain the Principles of Panchsheel.

(v) Mention rights of an Indian citizen.

14. Explain the main (basic) reasons which created tension between India and China.

or 

Describe the powers of state Legislature. 

3 

3 

3x3=9 

5 

5 

lx5=5 

06/C-X [Encl : Maps of India and Punjab 
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